
Industrialisation & Social Change 

Improve your learning 

Q. 1. Fill in the blanks with correct options: 
 
Britain did not depended on different parts of the world for ______ and 
___________ (labourers; raw material; capital; inventions) 

Answer : Britain did not depend on different parts of the world for raw 
material and capital. 

Explanation: England had an abundant supply of raw materials that spearheaded the 
industrial revolution in the country. Along with a big supply of coal and iron often found 
next to each other, it also had a modest climate which was ideal for the cotton industry. 
The easy availability of raw materials was further augmented by a cheap and efficient 
supply of water power. Britain had a reserve of capital as the country was known for its 
commercial pursuits with other countries from the beginning of the seventeenth century, 
which had earned them huge profits. The use of this wealth by the Bank of England in 
proper investments, along with the rise of the London money market, joint-stock banks, 
and Joint Stock Corporation made capital easily available for entrepreneurs. 

Q. 2. Fill in the blanks with correct options: 
 
Two important types of transport during the Industrial revolution were _____ and 
______ (road; air; water; rail) 

Answer : Two important types of transport during the Industrial revolution 
were road and water. 

Explanation: During the Industrial Revolution in England, water transport was incredibly 
important as it was a cheap and efficient mode for transporting bulky goods like coal 
and iron. The revolution also made possible the expansion and modernisation of inland 
transport by upgrading roads and laying a network of roads and canals to enable 
industrialisation. 

Q. 3. Write two sentences each on following aspects in the context of Industrial 
revolution: 
 
a) technology 
b) financing and money 
c) agriculture revolution 
d) transport systems 

Answer : (a) The transition to new manufacturing processes with an effect on both the 
industry and economy in Britain between the 1780s and the 1850s is known as 



industrial revolution. Technology played a very important role in this transition. 
Technological advancements included going from hand production methods to 
machines, new chemical manufacturing, and iron production processes, the increasing 
use of steam power, the development of machine tools and the rise of the factory 
system. 

(b) The transition to new manufacturing processes with an effect on both the industry 
and economy in Britain between the 1780s and the 1850s is known as industrial 
revolution. Britain had a reserve of capital as the country was knownfor its commercial 
pursuits with other countries from the beginning of the seventeenth century, which had 
earned them huge profits. The use of this wealth by the Bank of England in proper 
investments, along with the rise of the London money market, joint-stock banks, and 
Joint Stock Corporation made financing and money easily available for entrepreneurs. 

(c) The transition to new manufacturing processes with an effect on both the industry 
and economy in Britain between the 1780s and the 1850s is known as the industrial 
revolution and one of its main outcomes was the British agricultural revolution. Industrial 
technologies that affected farming included the seed drill, the Dutch plough, which 
contained iron parts, and the threshing machine. Scientific rotation of crops also 
improved agricultural productivity which not only increased the food supply but also 
reduced manual labour and created more workforce for other sectors of the economy. 

(d) The transition to new manufacturing processes with an effect on both the industry 
and economy in Britain between the 1780s and the 1850s is known as industrial 
revolution. Improvement of roads and canals were important during this period as a 
good transport system aided in the movement of raw materials and finished goods in a 
cheap, effective manner. The Industrial Revolution improved Britain's transport 
infrastructure with a turnpike road network, a canal and waterway network, and a 
railway network. 

Q. 4. What do you think is special about inventions happening during the 
industrial revolution? 

Answer : The transition to new manufacturing processes with an effect on both the 
industry and economy in Britain between the 1780s and the 1850s is known as 
industrial revolution. It marked an important shift from a rural agrarian society to a more 
developed urban industrial one. This shift was possible because of a variety of 
inventions that took place during this time period. The special feature of these 
inventions can be explained through the following points – 

• Most of the time they were a product of determination, interest, curiosity, and luck 
more than the application of scientific knowledge. 

• Education regarding the different sciences may have been restricted to the general 
population, but the thirst for knowledge even in small towns were satiated through the 



several scientific magazines and journals that were published during this time in 
England. 

• The inventors in the cotton industry like John Kay, James Hargreaves, etc often came 
from humble backgrounds like weaving and carpentry, but their general curiosity often 
led them to the inventions. 

• Inventors in the area of steam engines like Thomas Savery, Thomas Newcomen, and 
James Watt did have some background in metallurgical works even though the road 
builder John Metcalf was blind. 

From the above discussion, it is evident that it was optimism, curiosity and a burning 
need that led to the inventions that spearheaded the Industrial Revolution In Britain 
which makes them special. 

Q. 5. How were the lives of different classes of British women affected by the 
industrial revolution? 

Answer : The transition to new manufacturing processes with an effect on both the 
industry and economy in Britain between the 1780s and the 1850s is known as 
industrial revolution. It marks a major turning point in history as all aspects of society 
was influenced in some way. So, it becomes evident that women and children who 
make up more than half of society faced numerous changes in their lifestyles.  
 
Women belonging to the noble classes did not face a lot of upheaval in their lives as 
they were seldom engaged in any manual labour. It was the middle-class women and 
women in rural areas who faced the major changes in their lifestyles due to the 
industrial revolution. The following points give a brief picture of the effects of the 
Industrial Revolution on the urban middle class and rural women. 

• Historically, women in rural areas were actively involved in farm work and often 
produced most of the things needed by their families like clothes, etc. in the home itself. 
With industrialisation, the home stopped being a central unit of production and women 
lost much of their economic importance leading to a lowering in their social standards 
with respect to men. 

• Women of lower economic classes in urban areas were forced to take up work in 
factories to supplement the meager incomes of their male counterparts as 
industrialisation led to a higher standard of living and a rapid rise in the cost of living. 

• But working conditions in factories were harsh and often led health problems in 
women. 

• Women were preferred by employers for employment in factories and textile industries 
as they were less agitated with the poor working conditions and also would work for 
lower wages than men. 



The industrial revolution did indeed pave the way for women’s emancipation through 
increased financial independence and higher self-esteem gained from having a salary. 
But the drawbacks in the form of lowering of health, deplorable working and living 
conditions hampered their social and economic development. 

Q. 6. Compare the effects of the coming of the railways in different countries in 
the world. 

Answer : The development of railways as a cheap and efficient mode of transport was 
not only one of the positive outcomes of the Industrial Revolution; it also had a 
widespread impact on the same phenomenon. The first steam locomotive, 
Stephenson’s Rocket, appeared in 1814. 

• Development of various railway projects across Britain showed the success of railways 
in transporting people and goods all-round the year. 

• Many of the workers who were involved in these projects added to the burgeoning 
work population in urban areas as they never returned to their rural lives after the 
completion of the projects. 

Observing Britain’s successful implementation of the railways, many countries emulated 
their example. In fact, it was the implementation of railways that spearheaded the 
industrial revolutions in countries like Germany, France, and Prussia. 

• In Germany and France which lacked an extensive supply of natural resources having 
lesser colonies than Britain, industrialisation received a boost with the introduction of 
railways in the 1830s. 

• Prussia was able to exploit the rich oil fields in far-flung areas like Silesia and the 
Rhineland -the Ruhr and the iron deposits in Bohemia because of the connectivity 
provided by the railways. This allowed them to establish a successful iron and steel 
industry in the country. 

Thus, it can be concluded that the coming of railways affected different countries across 
the world positively and boosted the process of industrialisation. 

Q. 7. What were the relative advantages of canal and railway transportation? 

Answer : During the Industrial Revolution in England, modernisation of transport 
systems was needed to support the growing industries in Britain. Britain already had a 
well laid out network of canals and roads, but it needed upgradation to support the 
burgeoning demand of the growing industries. Although canals had existed for a long 
time, the railways were a new mode of transportation at that point in time. Both these 
modes had several advantages. 



a) Canals and railways allowed bulk materials to be economically transported over long 
distances inland. For e.g., coal could be economically transported from the coal fields 
via the canals and railways to the industries and cities. 

b) Areas with better-developed canals and railways developed faster. Often intersection 
points of canals and railroads served as markets which later grew to be well-established 
towns and cities. 

Canals being the older form of transportation had always been in existence in Britain. 
Under the Industrial Revolution, they were further developed to accommodate the 
higher demands. Approximately 4000 miles of canal network was constructed in Britain 
by the 1850s. With the introduction of railways, it was observed that they were more 
advantageous than canals. Not only were they able to carry bulkier goods at lower 
prices, but they could also operate all year round. Thus, railways were considered to be 
more efficient modes of transport though both canals and railways contributed highly 
during the industrial revolution. 

Q. 8. Locate the places where iron and textile industries are mainly concentrated 
in England during the industrial revolution. 

Answer : 



 

Q. 9. Prepare a table on invention during the time of Industrial Revolution. 

Answer : The inventions which spearheaded the industrial revolution started as far 
back as 1563 when Rev. William Lee invented the stocking frame which was the first 
major stage in the mechanisation of the textile industry. The following table gives a 
timeline of inventions made before and during the Industrial Revolution which made it 
possible to produce goods on a massive scale compared to the handicraft and 
handloom industries. 

 

 



 

 

 



 

 

 


